

Soustraction de Nombres Entiers (A)

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$$(+59) - (+31) =$$

$$(+9) - (+42) =$$

$$(+65) - (-32) =$$

$$(+9) - (+42) =$$

$$(-68) - (-13) =$$

$$(-6) - (-33) =$$

$$(-88) - (+88) =$$

$$(+45) - (+49) =$$

$$(+90) - (-30) =$$

$$(-18) - (+55) =$$

$$(-63) - (-73) =$$

$$(+33) - (+68) =$$

$$(+71) - (-77) =$$

$$(-76) - (-32) =$$

$$(-52) - (-9) =$$

$$(+22) - (-71) =$$

$$(-70) - (-16) =$$

$$(+50) - (+84) =$$

$$(-58) - (+28) =$$

$$(-12) - (+34) =$$

$$(-47) - (+77) =$$

$$(-71) - (+11) =$$

$$(-15) - (-99) =$$

$$(+59) - (-86) =$$

$$(+18) - (-55) =$$

$$(+35) - (-83) =$$

$$(-27) - (+27) =$$

$$(+31) - (+38) =$$

$$(-86) - (+70) =$$

$$(-5) - (+94) =$$